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194 3 ‘194 43
otat 1009 659 685 3.9
& 1009 662 688 3.9
& X2 109 165 170 3.0
AT 109 333 342 2.7
o= 100ml 420 430 2.4
2 ALK 100g 1,638 1,675 2.3
2ct 100ml 145 148 2.1
B 100ml 64 65 1.6
2 109 259 263 1.5
ot 1009 904 916 1.3
=3 1009 1,305 1,321 1.2
0= 100g 626 633 1.1
== 10ml 206 208 1.0
&8 100g 245 247 0.8
2otz 100g 146 147 0.7
2HE 100ml 620 622 0.3
Sk 100ml 277 277 0.0
S 1009 605 605 0.0
HI YA 1H 17 117 0.0
Itell 109 208 208 0.0
NER 100ml 438 437 -0.2
A 100ml 352 351 -0.3
=S4 100g 630 628 -0.3
= 100g 290 289 -0.3
NES 109 198 197 -0.5
ctH 14 649 645 -0.6
ANE 1009 452 449 -0.7
dsSUE 1009 983 974 -0.9
QX FA 100ml 252 246 -2.4
Aelg 1009 994 960 -3.4




